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'ADVANCED FINANCIAL ACCOUNTING -1

(For those who joined in July 92003 and after)

Time : Three hours 7 ! Maximum : 100 marks
Answer any FIVE questions.
Not more than THREE quesﬁons from‘ Section A or B.
 Each question carries 20 marks.
SECTION A

14 &Q&&ML urmsalelmbg @@Liumiey swmt Gaws.

. U

Qarerpse 45,000 @updyd 84,000

, amdlooy 13,500 sLafpCsmi 3,000
| ENIC) 900 e@uyser 15,000
Qurésb 6,000 eum_ens : 4,000
sbuemd  6.500 sLemmaflset 7,500

Qsmiss erseE 15,600 elpuemer 75;000
- e ~1,20,000 |



Prepare Trial Balance from the following :

Rs.
Purchases 45,000

Rs.
Machine 84,000

Bank balances 13,500 Creditors 3,000

Ihsurance‘ ' 900 - Drawings 15,000
Cash 6,000 Rent - 4,000
Salary 6.500 Debtors 7,500

Opening stock 15,600 Sales 75,000
~ Capital - 1,20,000 ' '

| @euumnimes sflsl L Ques e sasE g@safen

LTTEALUTETT SIETTDSEIS SeTHE Qe QAgm_rid
elgglwred em. 1,709-g é{gﬂ@) eure] eneusSTi. Gewreunt
 Yereumd Wenasar sar(®WgsslLlLer. SDETan

LSleysmaTs SHE SIMMTOESIS SaTédmans s,

(<=1) - duenen 51C) ep. 2,000 GEYVEES
er(psLILIL(haTerg).

(<) m.  3,000-ss5dlpsrer ey  eurmdlwg
Qsmetpge gh - epewrsL udlay

Qeiwuciud Gerarg.
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?@) TT ereTUNTEGE Cewwiul L epumer . 45 .

Seupna eh. 54 erarls Lugley GeEwLLL(HeTerg).

(F)  Gsmetpge Hmuu  gh e 200 2 wirss
er(psLILL_(HaTerg). . :

(93_') elpuemar  gligen F@ml(sQsmes @ 1,122
seupns . 1,222 aar  penGlan(hsgiF

Ceauiul(Herarg.

A Book-keeper having failed to agree the Trial
Balance, open a Suspense Account and transferred
the difference Rs. 1,709 to the credit of Suspense
Account. The following errors were later
discovered. Give Journal entries.-

(a) Sales book was undercast by Rs. 2,000.

(b) Purchase of Machinery for Rs. 3,000 was
passed through the Purchase book.

(¢c)  Goods sold to Raj for Rs. 45 was posted to his
account as Rs. 54.

(d) Purchase Returns Book was overcast by
Rs. 200.

(e) 'Total of Sales Book was carried forward as
Rs. 1,222 instead of Rs. 1,122.
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geouf - 31, 2009  oemm  odmer  Gemeucmid
@ouysafambg  31.12.2009 o L ar (g)mréu@ppgg
amger @Qoru plLé sarsdoas swh Q&g

Siemepwl G Blevad @BlLea b SWwimt Glgu.

sbuad 11,000 suefiGsmi 19,000
UL s | 2,800 afpLianen 64,000
Qurésid 2,000 L 60,000
sLaniaflser L 80on0 o 90,200

aﬁ]mrfurrr)'ét Qeeeyser 1,200

Qsmetapsed 50,000
e Uamd 5,000
akd 11,200

1,63,200
&5 L dgdr -

(@) Qs srsdmiy . 18,000,

1,63,200

() @ wrs sbuerb @eray b ‘ﬂ@jmmuﬂd} 2_eTeng).

(&) QrawE IS UL v
; CeQissLiLL (HeTars.

(m) guésLaissns 10% osisE@ Qo

(P& Ig &
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From the following balances as at 31°° December,
2009, prepare Trading and Proﬁt and ' Loss
Account for the year ended 31.12.2009 and a
Balance Sheet as on that date :

Rs. : Rs.

Salaries 11,000 Creditors 19,000
‘v Rent 2,800 Sales 64,000
Cashe: =" 900 Copital | 60000
Debtors 80,000 Loans 20,200

Trade éxpenses 1,200

Purchases 50,000
| Advances 5,000
Bank / _ 11,200
» 1,63,200 | . 1,63,200
Adjustments : 4

(a)  The closing stock was Rs. 18,000.
(b) One month sélary is in arréar. _
(c) k Two month rent has been paid in advance.
(d)  Provide 10% for doubtful debts.
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&0y Qarhésuul(Herer eurmseiembg Sm. Tmd
gerueufler Qprés oliger peubud 2009-b AU

sfEs_Hib UL w6 endlanar swmiés.

(=) Qumés  glgeniyg eumdl G cueIrILHM)
em. 9,500.

(<) Qrrss glydn Qegipsdsdr LGH EDPDHS

GSW;L;VLI:JUI;@G.ITGTQI 1. 4,150.
(@) Qrrés @‘l'_lq_GiilT I HCurSasiiulL srCeramasar
@agn  andlo  Gsaissiuelidme
eh. 7,750, :

(rr) QU ST (. 75 Qurés eliged @m@m »

ugwtiueeildene.

v (=) a9 Crrqwrs Qeausdw ep. 2,500 eilig
Qrrés alige ugweiloea.

Prepare Thirut. “Ram’s Bank Reconciliation

statement from = the following cash book
" transactions for November 2009.

(a) Cash book showed an overdraft of Rs. 9,500.

(b) The payment side of the cash book had been
under cast by Rs. 1,150.

(¢) Cheques amounting to Rs. 7,750 drawn and
entered in the cash book had not yet been
presented. '
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((?) Bank _chafges not yet recorded in cash book
Rs. 75. ’

(e) Interest Rs. 2,500 had been paid direct into
the bank and not entered in the cash book.

Qemeumd  eleurtisamar Garam® Helment Braner

sETLMlS.
spamauffl 1 —  em. 400 geuean Err%'n Gdgeur 4
CGugesfi 4 — . 500 geuevem pre erLined 7
gugl — em. 800 seuanent pret Go 4
Gw 10 E e 700 geuananr preT Qe 13
G 14 - . 1,000 seuaent prer gy 20

Find out the averége due date for the following

transactions.

January 1 Rs. 400 due February 4

February4 — Rs.500 due April 7

April 1 _ Rs. 800 due May 4
May10 - Rs.700 due June 13
May 14 — Rs. 1,000 due June 20
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sy

 SECTION B .

@@v@mMGﬁmmuﬂ@ ‘C?»aslqml Ceguyib 32 AESE:S

gl Lmeflser ‘Ca’ el s78@ ep. 10,000 Gogubd ejeur

Qeuis Cewa| cuently. QUTLMSEES (. 500 G aflss
s76@ eh. 8,000 Cugid él@-ﬁ Qaiis Qsevey em. 400
Smasg  ErEGaEsd Gy e @ 25,000-5@
alpsiulLg.. Gy 5% elpuemer WBg sle; Cup
sESwaLwélprr. G LiaralanL QPAVLD  FHET S G Em 6T

Wié816 Qerardpmi. Ca-an Hsefier CLCTH s Hms.

‘K’ and.‘J” were partners whose sharing ratio is

300 i g joint venture. K Supplies 'goods‘

Rs. 10,000 and paid Rs. 500 towards freight. J also
supplied goods Rs. 8,000 /and, incurs expenses
Rs. 400. J sells the entire goods on behalf of Joint

- venture for Rs. 25,000. J is also entitled to a

commission @ 5% on sales. J settles his accounts

by a demand draft. Prepare ledger in K’s book.

K eramueuit . 1,60,000-8e e a.;rra;mg,émg, QUTL &S '

Qamarpsed  Cawgm. 2l anys Osreswurens

- . 40,000 wombd @ Qmé g@mmgmnmm ;
ws® ep. 46,000-apd, @pewrmeug em. 44,000-pid,

8  5124/SBI/BMS3

L?)ﬁ)@}_pb epempreugl  eh. 42,000-apd @D GuLlg '
- fldlgoreng 5% K—yeurresmgmg; <@ (H&E 10% Geonhgl

Qev  pewpulled CsWinmenid " Qangm.
K 2 _angq Qsmapsawiuid, (psd seumennyd degisslu
Gpe Qrarind  seumeanr  CQe@idss  seudleni,
&l Liamwimerit @Jrr&mgmg By @%uﬁgﬂ, e5. 4,000 Lps
Qea| &g g{@g‘@.élBOO—é;@ eQpmm. @) meulen

ghsafa CLCHL () saméEsmens sTamiss.

K purchased a truck for Rs. 1,60,000 under Hire
Purchase system. The spot cash was Rs 40,000 and

the annual end instalments were I Rs. 46,000; II

" Rs. 44,000 and III Rs. 42,000. Interest. was
- charged @ 5% K depreciates the truck @ 10% p.a.

on diminishing balance method.

K having paid down payment and I installment,

- could not pay the second instalment. The seller

took possession of truck and after. spending
Rs. 4,000 on repairs, sold it Rs. 91,500.

Show the ledger accounts of both parties.

8 - 5124/SB1/BM3



JTRT  eTeLeuT S67 HarsCs(Hsamer @g’)mmm))uﬁm

Pe@DUled eneusgleraT.

2leugg 51.3.208 flenew eugmommy . Qyrésid em. 2,400,

eumdl @ 25,500. sLemaflser op. 18,400, spadlmuy
. 28,600, smpswer . 5,000, s_afECsrisar-

¢ 18,700 grCeuaimg i Qeaveysar . 2,000.

1.10.2008-6 gregn wieflss emBsd apse (5. 10,000
HoIb et TBEs Asmens . 7,000 <idld 5. 5,000
wAlLiLjarer @updrsams Qararipsa Aewigm.
$1.3.09-1b Hlenaw Getmeu(mLomy :

Qyr&aEn e 2100, euriid . 27,500, ersdlmiiy
p. 31,500, sLemmeflger 1. 24,200, S ED DBV ET
. 6,000, sLaftCamir . 25,200, apen gnt’tg QFgus s
&S em. 200.

r,rrrgrr@ﬁ]ﬁifr Qaru BLLE saTEams &Tams.
Raja keeps his books by single entry system. His

position on 31.3.2008 was as follows :

Cash on hand Rs. 2,400; cash at bank Rs. 25,500;
Debtors Rs. 18,400; Stock Rs. 28,600; Furniture
Rs. 5,000; Creditors . Rs. 18,700; Expenses
outstanding Rs. 2,000.
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> , :
On 1.10.08 Raja introduced Rs. 10,000 as further

- capital and withdraw Rs. 7,000 out of which he
- spent Rs. 5,000 on the purchase of a machine for

the business.
On 31.3.2009 his position was as follows:

Cash in hand Rs. 2,100; Cash at bank Rs. 27,500;
Stock Rs. 31,500; Debtors Rs. 24,200; Furniture -
Rs. 6.000; Creditors Rs. 25,200; Prepaid insurance
Rs. 200. Prepare the necessary statement showing
the profit or loss made by him. : :

2BHrT  sL@uorand e  Coumaemwu  1.4.2008,
. 3,00,000 wdHubsd Csmmbug. Spsrambd
Qeaeygar 31.3.2009 wpigw 2 rerg).

.
QUL a6 51,000
Qusdro signGug 15,000
e 81,000
wHn Cewe|sar - 5,000

31.3.2009 ety 80% .umﬂé—&rraiﬂg)rras QuHm  LewTD
. 1,28,000. apyiiniw @u;bgﬂr,rd) wHmd Aurmlsafle
weopCu em. 3,000 womb @ 2,500 Qsr@@bs
el e 31.3.2009 ey 2 émer Hleveurid :
Quipdrd &mud oeyidwg ep. 2,500, .
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Liandl smenm Qs wHii ep. 1,000.
QumLsar enaudlmin ep. 2,500.

Gauiorend 15% ereny sansdl (), @UUBSE SaTEES

swrfgg L Qarugems sl Cals.

Andhra construction began a confract on 1.4.2008
for Rs. 3,00,000. The following expenses were up to
31.3.2009 :

Rs.
Material : 51,000
Plant issued 15,000
‘Wages paid 81,000

Ot.'her exp»en‘ses 5,000
Cash received on
issued plant and material, Rs. 3,000 and Rs. 2,500

respectively were loss on 31.3.2009 the position
was ’

Plant costing Rs. 2,500 were returned.
Cost of uncertified work Rs. 1,000.
Material costing Rs. 2,300 were on hand.

Change 15% depreciation on Plant and prepare
Contract a/c, by transferring half profit to reserve.

i 5124/SB1/BM3

31.3.2009 amounts to
Rs. 1,28,000 being 80% of work certified. Out of

10.

2009 omiE mwggﬁﬁ)ssrrm lQGiﬂ@J@Lb Osranssamars
Qaran( eNbLeaer CUGHL( - #N&sL_() SaETE@SUD,

Qug) sETESLD FUMTES.

| O
1.4.2008-6 sL_anmafllser @@L 16,000
&1 e epLigan 45,000

sLamafaefl_ 0 @mHg Qupp Qrré&snd 40,000
ger@puily 2laflssgl 1.000

aureus@Mu wrHnFEd O Quppg 5,000

v auras@E i LIHNES O wYEsUILLLg) 12,000

CUITS&L_GIT v . 800
Qsrarpsa @u@qug}@ DTHOLD 3,000
Prepare Sales Ledgér Adjustment Account a;id the

General ledger adjustment Account from the
figures for March 2009 given below : :

Rs.
Balance of Debtors on 1.4.2008 16,000
45,000
40,060

Credit sales

Cash received from Debtors

13 5124/SB1/BM3



Discount paid
Bills Received

B/R Dishnonoured
Bad debts

Transfer to Purchases Ledger

14

Rs.
1.000
5,000
2,000
800
3,000

5124/SB1/BM3
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5122/SA1 | MAY 2011

MANAGERIAL ECONOMICS

(For those who joined in July 2003 and after)

Time :vThree hours Maximum : 100 marks

Answer any FIVE questions.
All questions carry equal marks.

More than THREE- questions should not be answered
’from Section A or B.

. SECTION A
1. Goeorarew Qurmellwugier  wHp SO EHSGLD
o_aar Glg m_r'ﬂ_cﬂsmz_ﬂ eSlaa .
Explain  the relationship betwee’n managerial

economics with other discipline.

2. sv  Qnifleoe uwaurl® ddowu  eiser
@mmu (& @epLer H b [Hs.
Assess the law of equi-marginal utility with its
limitations.



Gaemeu (ensantllbler Crréshd LHMID STFaETRS®aT 9.
auflensliL(H&gs.

List out the objectives and pui'pose of forecasting

demand.

- e . . | 10.
QL 9idlsNss60 Qsrarenauleay GU(THLOMEYT.

s (LU igener ellerd@s.

Explain the revenue condition of profit

maximization analysis.
rus Qemerensulesr @éﬁuggmgmg &ﬁ_lq_éSG;Wl;@.
Indicate the importance‘of profit policy.

SECTION B
Wurmerrgy apenCarpmsHan sewLsmer ellours).
Discuss the obstacles of economic development. -
@pHluwimrelled ggs &6t Clgmens — lafﬂmei;@.
Ovér population in India — Explain.
ua;@g‘,]é;'@@@ﬂve;.&’r urﬂﬁ,@mu&mm elfleurésid &(ms.

Elaborate the recommendations of Bhagawati

Committee.

2 ‘ 5122/SA1

Couermegor a@»ugél&as e

Qrsureien  GonHs

SMIETRISM 6T &L 1q.& ST ()&,

Indicate the causes for low agricultural

productivity in India.

AnQsmple 2 drer Arssmarsmer s

Analyse the problems of small scale‘ industries.

3 5122/SA1



5123/SA2/BM2 MAY 2011

THEORY AND PRACTICE OF BUSINESS
ORGANISATION

(For those who joined in July 2003 and after)

Time : Three hours .Maximum : 100 marks

2O

Answer any FIVE questions.
All questions carry equal marks.
D@L 2 (haursEsgald 2 arar LdCeun Blenevsemer
@S]mé;@gs.
Explain the various stages in the pr,ocessﬁ of
organization.
demfiperene LHmIbD euamlsLd Capu@ssis.

Distinguish between industry and commerece.

LCeumy auaswiTer Blmiwkismar efeuflés.

Describe the different types of companies.

2 $B10 6T6y B euamrun). 2 S5 BjeTay Bniwsms
Blianruis @i smyenfsaer efleurdlés.

Define optimum firm. Discuss the factors that
determining the optimum size of a firm.



@@ Hlmiw Cuenaramiuder S WSET wWreneu? Hlmio
Guerarewwred foeurm d  wepulelmpg WBer

2 mIGETG) @g@@m&mm&.m wreneu?

What is the nature of company management?
What remedies would you suggest to overcome -

oligarchy in company management?
‘GODOIRT AT  GTEAT?  (PIPEILD  SBiELIT
@mnGeuargermed erHUHLD eflenereysEer wimeneu?

What do you mean by ‘Quorum’ What are the
consequences of incomplete quorum?

Bl udeurerfer sLebsET, JHamrhiseT GOSH
olleT& G .

Explain the duties and powers of registrar of
companies.

Qurgisgieop Hnwhiselear Crrésmsd, Sl
wpon EGNsg eauflés.” :
Describe the objectives and orgamzatlon of public

enterprlses

QumgiliLwieT ﬁgmr&x&mﬂéﬁ Wp&Hworen
Ar&élmensener afleurdlés.

Explain the special problems of public utilities.

2 b5123/SA2/BM2

10.

om Howsdear wrdfl LSerer uq_mgemg &;g’)uj@»m
el eu s EhL6 SwimT Clguis.
Draw a specimen of proxy of a company with .
hypothetical information.

5  5123/SA2/BM2



@

But most of my fellows do not enjoy what I
regard as essential requirements. And I

‘cannot be completely happy while they are

unhappy.

The true reward of all my hopes and efforts
was a light slender thing with a single stem
like a tulip made of silver paper. I anointed it

with tears of disappointment.

4 ~ 5121/SE1/BE1

5121/SE1/BE1

MAY 2011

ENGLISH - PROSE

(For those who joined in July 2003 and after)

Time : Three hours

1. (a)
(b)

2. (a)
(b)

Maximum : 100 marks
SECTION A — (4 x 20= 80 marks)
Answer any FOUR questions.
All questions carry equal marks.

Examine the irony and veiled humour in
P.G. Wodehouse’s “My Gentle Readers”.
Or

How does Chesterton expose the modern
method of flattery in “The worship of the
Wealthy™? ‘

On what context Inge calls the practice of
betting a disease?

Or

Discuss Lippman’s observations on Mahatma
Gandhi. ' ‘



(a)
(b)
(a)

(b)

(a)

(b)

Analyse Cardus’s comparison of the umpire

in a cricket game to the geyser in the
- bathroom.

Or

How does Russell emphasize the need for
wisdom in the modern world?"

- Summarise Nehru’s advice to the young

graduates of Allahabad University.

Or
How does Spencer give us a great insight of
Vinoba Bhava and his Bhoodan movement?

What, according to Haldane, are the
requirements of life?

Or

Describe the circumstances that made Dr.
Cronin a novelist.

- SECTION B — (5 x 4 = 20 marks)

Annotate any FIVE of the following passages
choosing not more than THREE from either
Group.

(a)

GROUP A

“And when I go home tonight,” she added,
“and tell them that I have actually sitting at
dinner next to Edgar Wallace, I don’t know
what they will say.”

2 ' 5121/SE1/BE1

(b)

(c)

(d)

(e)

®

(g)

()

Are not the Himalayas in themsei.es a
sufficiently inspiring spectacle — all the more
inspiring. Indeed if some peak still remains
unscaled mysterious? '

They must work with concrete and with the
plainly and generally intelligible thing.

Often is the phrase “A Bad Decision’ heard
amongst cricketers, but how seldom any of us
talk about and praise a good decision.

All these men testify to the creed which I
have been trying to express; a negative creed
but necessary for the salvation of this
crowded jostling modern world.

GROUP B

I had reached the pr0m1sed land and
resolved that I would make the greatest
efforts to fit myself to do good work in the
great world.

No harm was done, nor any blow struck; but
the papers next morning described a scene of
violence and destruction that left nothing to
be desired by the most sanguinary schoolboy.

He decided to return to his own five acres of
land and wait, leaving behind in Hyderabad
workers who could distribute the land and
help the village people to make a better life
for themselves.

3 5121/SE1/BE1



5120/ST1/BT1 | MAY 2011

VANIGA KADITHANGALUM ALUVALAGA
MURAIGALUM

(For those who joined in July 2003 and after)
Time - Three hours Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks.

Donot answer more than THREE questions either from
Part A or Part B.

(5x20=100)
PART A |
(BUSINESS CORRESPONDENCE)
1. p@@u_me&ﬂa; &4 556 SjenLoLiL umgﬂ ;g\:;,ulé;.
Analyse the structure of a good business letter.

2. 2wg Hpwsdne 20 Qs GgrenaCuéilsar igyliu
Gafl @m s4sb euamys.

Draft a letter reqesting of supply 20 cell phones to
your organisation.



epuener Goemert ugyéﬁ]é\;@ e cllaranTILID e
Draft an application for the post of sales manager.

LA wrdfl wdpaypder Sflepsd Geld LbH GO
sHphlens slysb sunrm Cels.

Draft a circular letter informing the introduction
of a new model car. :

Ay GO euanys.
(@) Bspsdls @luy
(<=b) é{rﬂaﬁ]uu @4@&3@55. 3
- Write short notes on :
(a) Minutes
(b) Notice.
| PART B
(OFFICE METHODS)
Licwf] @J@ugggﬂmkamé}ugmgy S DES.
Analyse the importance of work flow diagram.
GBS apad QBT aTeTLSEN BUIOLSEET HITS.
Examine the features of written cénimuniéation.

2 5120/ST1/BT1

10.

S@ems Ugassl QUL  GCsmeuser  upH
cleundlés. ’

Discuss the need for form control in office.

Camily au@IelussmID S[HS. SIS LOGUMSHE
leT& @5

Define “Filing” . Explain its various types.
gCsaIb BhHel AQeuns srpambisaisr uamflsmar LPH
NeréGs.

Explain the functions of any five ofﬁce

- equipments.

3 5120/ST1/BT1



- 5127/SB2/BN3 ~ MAY 2011

MODERN BANKING : THEORY, LAW AND
PRACTICE

(For those who joined in July 2003 and affer)-

"Time : Three hours Maximum : 100 marks '

Answer any FIVE questions choosing not more than
THREE from each Part.

All questions carry equal marks.
PARTA
(BANKING THEORY)

i,." ‘QeE eumdl  WHmib ‘Aevar  auriid)’ Coupu®ssis.
- @pdwureid  Hever  ourid) papuller  FeTepLoGEDET

cllerd@as. -

Distinguish between ‘Unit Banking’ and ‘Branch
- Banking’. Explain the nature of branch banking
system in India. :

2. aafls andulwedar spsre Cursms LHH <, FTis.

"Examine the recent trends in Commercial
Banking.



sarys 615 QJQM@@JQGU QUL oenys  eumkidlaaerén

LIRS aﬁ]ma;@a;

Enumerate the role of Regional Rural Banks in
providing rural finance.

@;r;é\u,l faieu euridluder Laflaamer 6llerd@as.

 Explain the functions of Reserve Bank of India.

‘Quiist Qensgssdr e cTeran? g CTLTuTs
Qpdu - fleteu  anduiar  eiflsn(Haosmer
GMUELayb.

‘What is ‘Non-performing Assets’”? State the
guidelines of Reserve Bank of India on NPA.

PART B
 (LAW AND.PRACTICE)

sLamaf&eT-sLaibCSHmT Qg,m_r'n_( g Unenuldled
- aukSiumEEGLD GUMly Sen&WITer(héEl enL_Guiwime

Qgr_mienen elleundlés.

_ Discuss the relationship between a banker and
customer based on debtor-creditor relationship.

wrumgdléd FHULTE Bmeuambasr wHmD sl (&
sas@ Quuile sansEsmers CSTLRIEGD AP6T
amdur  alés  Caangwu  (patblarEsilEms
[BL_GUIq &EN&&ET WITEnEL? ‘

9 5127/SB2/BN3

10.

)

What are the precautions a banker should
take before opening an account in the name

~of Non-trading COn_cern and Joint Account?

‘snGsramesaiies Snad’ eremug LD }f,afﬂrr @{@@_@J '
wngl? @igen LOCan cuamsHmeT 6lleaTsEs.

What do you mean by ‘Crossing of Cheque™?
Explain the various forms of crossing. '

RELEIGINIICT: 2 | Grempred eremen?  Sigen LidGeum

CUENSHHENGT 6l 6TE 5.

What is Endorsement? Explain the various kinds
of Endorsements.

s7EG N Qeuammmiser HHILD SimsuTE QsTés Eaar
Bg sLean eupm@d er eumdwr Copdsrerer
Geuanrigw panCeanésfsms pLouigsamasamar eleufl.

Describe the precautions to be taken by a banker

to advance against documents of title to goods and
1mmovable property.

3 5127/SB2/BN3



5128/SB3/BN4 MAY 2011

BUSINESS STATISTICS AND MATHEMATICS

(For those who joined in July 2003 and after)

Time : Three hours ' Maximum : 100 marks

Answer FIVE questions, more than THREE questions
should not be answered from Section A or B.

All questions carry equal marks.
SECTION A
(STATISTICS)
1. yerafluGlwd erempmed eTean? SiS6m GUEIWEDSEMETS

RGNRIGES
What is Statistics? State its limitations. -

2. aemuLsfoeh, adsl ULFEADGL 2 aTer
Ceoumum(Ha6r wireneu?
What are the differences between graphs and

charts?

3.  Yemeumd el @, sal (H& synefl srews :
auflens : 0-5 5-10. 10-15
HspQeier: . 2 4 5
cuflene : 15-20 20-25  25-30

116 Lp Gl et : 3 2 4



Find arithmetic mean for the following :

Class interval : 0-5 5-10 10 -15
Frequency : 2 4 I
Classinterval : ~ 15-20 - 20-25  25-30
Frequency: : R 4
Gangeys synat sar(Hy. :
auflens : - 3040 40-50 50-60
AspQa 15 13 8
auflens : 60-70 70-80 @ 80-90
Hls1pQlavai : 6 15 7

Calculate Harmonic mean :

Class interval :  30-40 40-50  50-60
. Frequency : 15 13 8
Class interval :  60-70 70-80 80—90
- Frequency : 6 15 7

S L efewssd Srans :
14,22, 9, 15, 20, 17, 12, 11.
Find Standard Deviation :
14, 22,9, 15, 20, 17, 12, 11.

& - 5128/SB3/BN4

- 10.

SECTION D
(MATHEMATICS)
el flghigefler a.nmasé;emﬁ efleu.
Describe the types of ratios.

eldlgranysdlen @eamTH6ngHeT LiTaneu?
What are the properties of proportions?
K-6r cugpomenid . 2,80.0; Qevajs@b GallliygEh

o drar elildlgd =3 : 1 erafled, Gailliy ereucuarey? GFaway
GTEUGUETEY?

" K’s income vis Rs. 2,800; the ratio of expenditure to

saving is 3 : 1. Find the amount of savings and
investment. :

x-61 wElienud seaTHI9g. : E:lz_
‘ e S
Find the value of x : 2a —1—2—
3 x

T = THSeman Qe LS L T?

1 Len = erggeman Liajair(h?

1 GuU(BLLD = GT&SEN G GUTTBIGET?

1 meter = How much centimeter?
1 ton = How much pounds?

1 year = How much weeks?

3 5128/SB3/BN4
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5129/SB4 MAY 2011

INTRODUCTION TO INFORMATION TECHNOLOGY

(For those who joined in July 2003 and after)

‘Time : Three hours Maximum : 100 marks’

Answer any FIVE queétions.
All questlons carry equal marks.
2 gs @uuamo LDgognLo GTEHT @6\)858; santlefl Lhm Seiflés.
Describe Analog and Digital computers.
| 2 g,e#@.;eb Qsmfler B LsSHen péseduied ug’)@ TS
Analyse the ethics of Informati_oxi Technology. |

3. JUETHS®MET 2 (FAUTEGS®  HDID sAQs Lz e

oo 6lleré@s.

Explain the process of creating and editing
documents.

4. Coengg Cuwé Yrspd eepred  eranen? S|S0
QuieLgener ellerdEs. -

What is Desktop Pubhshmg‘? Explain its
characteristics.

10.

ISDN gl @uicbiisever efleré@s.
Explain the features of ISDN.

Com’ updl e GO QUmTs. ST LLGTSE®ETS

8%1@]83.
Write a note on ‘Modem’. State its advantages. -

Gamiy Cuenemeno uarflsamer eflfleurs aflené@s.

Explain File Management Functions in detail.

& @@s)a)uﬂei} Qmbg Cuwéd  Hleew euemy o drar

aﬁ]ur}@&uﬂuqasmerr efleulss.

Discuss the H1erarch1cal data storage method

Qupsly eurpsens eueridsl spnd LHM efleul.
Describe in detail the system development life
cycle

GO euanys.

(<) HTML

(=) VRML.

Write notes on :

(a) HTML
(b) VRML.

o  5129/SB4



5125/SA3/BN1 | © MAY 2011

BUSINESS ENVIRONMENT AND
ENTREPRENEURSHIP DEVELOPMENT

(For those who joined in July 2003 and after)

. Time : Three hours : Maximum : 100 marks

Answer any FIVE questions by choosing not more than
Three from each Section.

All questions carry equal marks.

SECTION A

1. Qampled @pader caqmruuem_é;' Cam_uTaser wrama?
What are the elements of business environment?

2. . Qgmfe Soeg | ellururgsdlen FAPSTIL
Crrésmismers samis.
State the social objectives of business.

3. SIIMTEHLWIDTEGSE GTGTM TGV GTGITENT? S|S6im
BEITENLDSENOTE Fo IS .

What do you mean by liberalisation? State its
merits. ;



@ungjg,gﬂemg) Hlmicuers e UG\)G@JQ} CUENESET LITENGU ?

What are the different forms of public enterprise?

2 Q&I TEGSemTe e (HLD HETENLOEM TS FaD)s.
' State the merits of globalisation.

-SECTION B

AmCsmfled Blmeuansens QB Tk GeugHSTen
Bl (PEDEMETE Fam)s.

State the procedure for setting up a small scale
industrial unit.

@gr@]@) wpenaGoun  euem&fleH@ Lmeul L @g,rr@@)
- ewWSdler LikiE wrg?

What is the role of DIC for the development of
' entrepreneurs‘?

orfle oirs CGsmed @mm@mn@g@ GULPMISLILI(HID
mne‘oﬂu_lrm&m u_lrrsmu’)

What are the subs1dies provided by the state
government to the entrepreneurs?

Ggmfle miamiss eumiliy eraflano wHmD QurmeTTSTy
CeumiliLy ereflenio erammme erevmen?

What do you mean by technology feasibility and
economic feasibility?

2 5125/SA3/BN1

10.

9
WaefiT @mm@mrr@és@ upmsLUGL - LCam
LulpAsemers snms.

State the various training programme for women
entrepreneurs.

3 5125/SA3/BN1



5126/SA4  MAY 2011

PRINCIPLES AND PRACTICES OF INSURANCE
AND MARKETING

(For those who joined in July 2003 and after)

Time : Three hours Maximum : 100 marks

Answer any FIVE questions choosing not more than
THREE from each Part.

All questions carry eQual marks.
PART A
(INSURANCE)

1. smuSigenr — Qeésard B(HS. ST g6

‘ Quesemeruyib, Gamarensulenenb 6feréss.
Define insurance. Explain the nature and
principles of insurance.

2. smuSl e uaGaun eumssmar elfleuns eflems@as.
Discuss the various classification of insurance.

3. ESWUlSl_.@ @uu;ﬁgg@m p&Hw éﬂQ)LlL{ TS ET
elland@a. '

Discuss the ' essential features of insurance
contract.



QLM iy enen UT&ELD Syenfls6r wirened?

What are the factors affecting risk?

o GHOY uenrs :

(o) By dgrens ULy

(=) o Ao wmppid

@) sp@sraw-cdmaay

Write short notes on :

(a) Surrender value

(b) Assignment

(c) Effect of suicide.
PART B

(MARKETING)
5ﬁ,emg,u5]u1é) NaTé@s. FHhmg eTeucUMm) wmssu@é,g,u
L& emmen eraLigenen odleTs @ ‘
Define marketing. Explain how markets are
- classified.
Cydw  Qur@ener Cubu@sgisader CGurg e 6rer
L@Gaumy Hanesamer alfleurs elerées.

Discuss the various stages of new product
development.

2 5126/SA4

10.

)

(1
oaud@sdear  gCaaib LSF eumssmer  LDD
gaipsTle) QFuls.

Examine any ten kinds of pricing.

 “eflembund SipTeuflwioneng” — 5 Qos GIEQJH'i

Qamrerdlermmuim?

“Advertising is wasteful” — Do you agree?

Ao GO euenrs :
(1) QUTEHET LEGLILMLGY

(=) eflembury apseurt Liaflsar

(@) eApueer QUTmILIL LIBIE.

- Write short notes on :

(a) Product segmentation
(b) Advertising agency function
(c) Sales quota.

3 5126/SA4
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ADVANCED FINANCIAL ACCOUNTING — II

(For those who joined in July 2003 and after)
Time : Three hours Maximum : 100 marks

Answer any FIVE questions choosing not more than
Three questions from Section A or B.

All questions carry equal marks.
SECTION A
'(Partnership Accounts)
: & éﬁxl'_l_ﬁdb’i'GU)LD GQossamTd  H[HS. Gl L_TERTEnLO v

Seiarsms’s upd Bl oo wrg? Qe

QL_miflujerer afleuymismens gmms.

Define the term partnership. What do you mean
by partnership deed? State its content. ‘

2. A vppo B gdu el Lreflsdr @eoru, plLsms
gowrs  udipgs Oerardlamernt. 31.12.2004-e
6 Ta el e @@Dqﬁmwé @MU emeumLmm)



¢ | (

Qumpiser . Qenggéae O A and B are partners sharing profits in equal
Gk 50000 sl o | 37,000 f}jg;;;):lzonég(l)f ?’f(l)lllo;v;g% 415 the Balance sheet of
B S0 e A Liabilities  Rs. Assets Re.
AsTEUL Gausimy.u ) - 200048 A% caital 50,000 Building 37,000
sibLand 14,000 7685014 20,900 B'scapital 45,000 Furniture - 5,000
SLamaTEET 140,000 QupisH @l 1008 Salaries Investments ~ 20,000
' ey outstanding 14,000 Stock 20,000
S Gt Creditors : 40,000 Bills receivable ‘ 17,000

(—) D UIGSHL_6T

Sundry debtors 42,000

BRI 000 38’0Q0 (-) Provision for
anddooy | 10,000 Doubtful debt 4,000 38,000
Qs evsu iy 004 Cash at Bank 10,000
1,49,000 1,49,000 Cash in hand 2,000
‘C GremLieuanty Lydlw a'm'_o_rfGTﬂquT&S @gﬁé@é;@&;rrm@_{g,rj)@ . ’ M : . ; ; M
wer  SpsarL  eleugiisar Qzflu  eupge.

Before C joints the firm as a partner, it was
found that the provision for doubtful debts
be raised to Rs. 6,500 and the furniture be

pussLan Bgranr sy m. 6,500 ey 2 wiss
- Couar(hd. . SyemmE@ET wHliy . 4,500  erem

wHUGLOULLg. sl sdlen ALY . 45,000 erem

2wissuLLLg. A eauemeoLw Qamss s

¢ 4,300 sl L namenouden psaSH s SMmSUILLLE.

(penanmer HaeuaisE Asaiss Ceuariqw e 1,200&;@
981680 Qsuwiul Lg. sl Lrefuben 6;@6561?]@
| Wané  GOILCULEL  ufldimens - s@ms.  LHHID

wpwduii(es  sarsg, ydu  Qouybloes -

@Olueub gwmt Qewis.:

2 y ,5130/535/3151 |

valued at Rs. 4,500. The value of the
building ‘has been mutually arrived at
Rs. 45,000. Personal investments of A worth
~ Rs. 4,300 be treated as firms investments. A
claim of Rs. 1,200 by an ex-employee has
been admitted and the same be provided.

Pass  journal entries and prepare
revaluation account and a Balance sheet .
after effect to the above.

3 : 5130/SB5/BP1
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3. A, B opmiv C Gfﬁiﬂb Fal_Lmafl&6T SieU&erg) @?”U Bl Liabilities Rl : 7 Assets " Rs.
gﬂiﬁiﬂii;;;;im: méﬂ ®::J6§lu gf:@z] 1U16D2 foog)j@;?; Capital Accounts : ‘ Land and Buildings 80,000
@ie] GQup am@aﬂmwﬁ <GPl selTsas) o A 1,00,000 Plant and
: Qmuy Haws GHoy Q@mglgng@a;m . B 80,000 Machinery 11,00,000
: LimmL H6T ; . G
@@gmf{ i - T 80,000 C » ~ 60,000 Stock 50,000
- X ‘ ' 1,00,000 QUi wbmtd , - Creditors ‘ 80,000 Debtors 60,'0001
B 80,000 QuiBSTid - 1,00,000 ' o Cash 30,000 "
c 60,000 @O - 50,000 3,20,000 3,20,000
sLafCami 80,000 s1_neflser 60,000 : '

The value of the goodwill was agreed was

Qprésn ol : Rs. 80,000. The land and building had increased
" 3.90.000 v 3,20,000 - in value. The value being agreed at Rs. 1,00,000.
— o : : Plant and Machinery was revalued at Rs. 80,000
- Gomgemr Gadlulfle Saufigerg  pemodlliy . and it was agreed to provide 5% in respect of
e 80,000 wrs wHUG LUESDE. Hob wLHHD .1 debtors,
oL sHe . . 1,00,000 wrsejd Quml wHmd :
= e %Qu ggooo fjn& - : Prepare memorandum revaluation account and
Blubdnpdlen ’ o oS ‘ Balance Sheet.
sasd L ILESDS. WHMID SLemmaflser 551 5 F56i5L0 ; ‘
Blomm o Gy ®§j$®_uu®éﬁmgﬂ v ' 4. X, Y wpmd Z epeumd sl Lmeflsedr. Hlmeuend
CuCe sam_eupPlelmbs feuisem  wHLSHIT G soolys  Deiwdiulr  Csdled  euisafien
s wpnd Qouy fews @illou surlissen. 31.12.2004 @iy Hlevads @i Gereumiony.
A B and C sharing profits and losses equally, had : Gummiiyser €. - Qenggisear o

been trading for many years. C decided to retire
on 31.12.2004. on which date the Balance Sheet of : . : : :
the firm was follows. 4 Z 3 samés 22,000 @eru -l s/ 12,000

4 | 5130/SB5/BP1 , 5 5130/SB5/BP1

X ppsd> st 10,000 -6 apséd sawmdg 25,000



QurmliLger €. Qersgisaar .
upue sLatpCsmr 60,000 upue :
‘  Qensgissar 55,000
92,000 92,000
&Ll L_meflger @@rru—(r_r,l'_l_gmgy_ gowrs  USiBg

Csratdlampent. Carggissdr e 40,0006@  Siey
Gewwtiul Lg). Siey Qeeweyser er. 1,000. sm_l_mﬂa;m
- Blanav Geteumommy. :
Cembg demggissedr Qerhgs Qurmliysar
X 18,000 20,000
N 12008 21,000
Vo ) D e 10,000

galLreimanioufen ghsafler Csaeuwmenr CuGH._ (&
sansdlanens swmm Ceuis SKLI_L_TTGUUT@)LDUQ@T as@zsrasaﬂm

&
The assets realised Rs. 40,000. The expenses of
realisation amounted to Rs. 1,000. The position
of the partners was as follows :
Private Estate Private Liabilities

Rs. : RBst
X 18,000 20,000
Y 12,000 21,000
Z 12,000 10,000

Prepare the necessary ledger accounts to close the
books of the firm.

A oppd B oy sl reflser @eru gﬁl_Lg,Gmgg
perpGu 2:1 erenp fdlgsda Ldibe Qarerdermment.
31.12.20066 aeurras@mgm @@uq;ﬁ]m@ GOLy
lemeupommy.

WPg&ESELD.

X,Y and Z ‘sharing profits in an equal manner,
agreed upon dissolution of their partnership on’

31.12.2004 on which date their Balance sheet was

as under :
‘Liabilities

X’s capital -
Z’s capital '

Sundry creditors

Rs. Assets . ‘Rs..

10,000 Y’s capital

25,000

22,000 Profit and Loss a/c 12,000

60,000 Sundry

assets

92,000

6

55,000
92,000
5130/SB5/BP1

QUi ger em. Cenggidaen e1.
P BT : Quisdiyid 11,000
A - 8,000 | epsdoiy 2,465
B - 4000 12,000 s_amefiser 3,000 |
auridl Goed euanitiLihmy 2,000 (-) :
Q‘?@Jg@lﬁéi@’ﬂw 615 sL_ameflger
LIOHIEE.H
sLameriger 2,100 LBg,rrgm
(2 - BeTEnU.
sLanmanfsa sy 150 2,850
Bsnen senenLis Gran 300
sy ﬂ__ 2,000
16,615 16,615
7 5130/SB5/BP1



gl LTaflGaT SmasEHaMLL Sl L TETenLOGn) X erennm
sbQualse husts wae| Cewge. QsnE X
sb@uefl gl Lrells@EnéE wugw Cdegisdu
13,000 um@ser, ukidar wHUY . 1 iz wHYID
Qpréswons @ 500 Cequbgieusts @UUS Garamg).
Qrréssams g6y gl Lmeenoudléy . o ear
QurmItiLEeneTuL, Qsrggsamand X &G uef
a(HssE CQstarLg. WPHD GOUCULEH udleysmers
spgl, sl Lraflseflen samédloean &rey Qawweyd
CUGIL (& saTéEGsmaTLD SWTT CFls.

A and B are partners who share profits and losses

in the ratio of 2:1. On 31.12.2006 then‘ balance °

sheet was as follows :

" Liabilities 1 B Assets Rs.
Capital accounts : | Machinery 11,000
— 8,000 Stock in-trade - 2,465
_ 4,000 . 12,000Debtors 3,000
Bank overdraft 2,000 Less :

Bills payable
Creditors 2,100

615 Reserve for

discount on

Less: debtors _1_51 2,850
‘Reserve . Cash in hand 300
for discount
on creditors 100 2,000 : ‘
61 . 16,615
8 - 5130/SB5/BP1

-

It was decided to sell the business to X and
Co. Ltd. the company agreeing to allot
13,000 fully paid shares of Re.l each and
Rs. 500 in full satisfaction of the purchase
consideration. The X company assumed all
the liabilities and took over all the assets

- except cash in hand . Pass journal entries
and prepare accounts showing the ﬁnal
settlement of the partners.

SECTION B

(Corporate Accounts)

sLausHrmsailar uoGamy  BSly @mm&mm

Gﬁ]erra;a;mm

Explain the various methods of redemption of
debentures.

P erenm Blmiwow ep. 100 wéliiyerar 10,000 ukigser 5%
sam@pLiguled Sipsanr_eumm Qeuafludi L g). efamrenTiiig
Agrens . 35, @#Is&® . 35, s wHML Qmd

S @epuy e 35 Qumrg wasefllmbg 9,000
UGS EHEE elamrenriing  Gsmens  QuplLL (),

SAmaHgID gopmé CQarareriulLer, 100  umiGser
Bgren s wHpd Gu S@plous sy, woD
URIGSER&E imandg uamipbd Gupiulter 100

- urigsmer e@nulply Gelwiul B Seupdléed 60

uBigser Wam®n  ep. 90 eisd vy CQeuafui®

Qewwiiul L g sbQuafl g@saila wsn GHILGUL LI

udlaflenand &(ms.

9 .  5130/SB5/BP1



P Limited invited applications for 10,00& shares
of Rs. 100 each at a discount of 5% payable as
follows. On application Rs. 35, on allotment Rs. 35
and in first and final call Rs. 35. The applications
received were for 9,000 shares and all of these
~were accepted. All moneys due were received
except the first and final call on 100 shares which
were forfeited subsequently 60 of the forfeited
shares were re-issued at Rs. 90 as fully paid.

Pass Journal entries in the books of the company.

Epsam. @muysdar Y sn@uef e Fhsefladl(mpe)
Qupliu@ermer. 10,000, appeugin Qegussriui L

11% wengyflevots urigsar m. 10 efgid: 5,000 , 10%

Gper@iflonl  ubgsda @ 10 efsb  en. 8

CegussliuLg; 20,000 sngmyeam LBIGseT ¢h. 106ish.

WPQaugId CeaissiiulLg. Qug s e. 2,00,000 ;
Qoru - pesl samée. . 1,00,000 wsdar sy
5. 20,000 . urig eenon . 15,000. apenepifleniols
umiEser 10%  qpeemogder  BlsiiuL Ceueam(ib.
@snsrs 5,000 srsmyent umi@gser . 10 efsn 10%
poeannsdle &b6ued Qeuefludi L g 11% wpereyflenio
' weraiflenio
san(h9ig 68 g weddaam s GHUCLEH ubeser
SBHS. ‘ ‘

umgsafler, 500 UIMEI&S T e en 6

10 5130/SB5/BP1

'{ne' following balances are extracted from the

books of Y Litd.

10,000 11% preference shares of Rs. 10 each, fully
paid; 5,000 10% preference shares of Rs. 10 each,
Rs. 8 paid up; 20,000 equity shares of Rs. 10 each

_ fully paidup; General reserve Rs. 2,00,000. Profit

and Loss account Rs. 1,00,000.

Capital reserve Rs. 20,000. Share premium
Rs. 15,000. Preference shares are redeemed at
10% premium to the extent possible for this

- purpose, 5,000 Rs. 10 equity shares are issued at

10% premium. Holders of 500, 11% preference
shares are untraceable pass journal entries.

30.6.2008 yemm M é;Lb@uevﬂuﬂ]ein Qmuy Cergamen
Gemeu(mLommy o eTera.

W .
@miy 30.6.2007 1,50,000 -
ApLave 7,00,000
| Qararapse 4,90,000
o HLsH el 1,00,000
SOT@bLIg 14,000 - 10,000
sibueTD 3 15,000
GUTL_GH& 9,900

11 . 5130/SB5/BP1



Quimg)F ClFaQveyseT LHMID
sTUS0

Qaru - BLL sawré (30.6.07)

_ ; UBISTETL 2 Hlelsss) -
< s6v(®H 2007

QL _G&Te LBISTSTWLILD

<iD&58!

5,000 smgmyamr LIl (1. 20

aigib-pupaugid Aegusduig
5,000 6% @p@eugjm
Q&@ugg,uut_l_

wpereyflenio LmkiGser p. 20

aigb

SL_GUTTEITITE 6T

sLanmaflger

Quml wHmid (@m(r_r)g_f)r}m

- Qyrésid

GSFTL'JL]&}.GiT

Hreurss @m&@gb@&@ sLan
- iafissg)

@JITIT[TSSBEI_GOT

12

€ €.
34,100
30,060
10000
8,000
1,00,000
1,00,000
35,000
75,000 ;
58,000
32,400 ;
31,000
6,500
3,160

10,06,060° 10,06,060

'5130/SB5/BP1

¢

30.6.2008 wienm 76y . 1,64,000

SssarL sflslLdsar saiasdo Qsrar® Bmiog Sl e

30.6.20081b <ypairiqHE @MU - HULS ST @ LLOHMILD
Qouyblowns Ghlumus g)u_xmﬂésa;mto.

<1) Qumdl wHmib QuibHrsen Lﬁgd 10% Gg,u_lmrrmm
REESD.

(=) 5% sLanmeflser B ST 2 (HeUTEES.

(@) sLemmeflser g 2%% geT@pLIg. STl
&@@Jﬁé;@a;.

) sfleys Gasrensenw LHm m@g,(&, Qe Blieurs
QusEp®SE 5% sifle) G516@s.

(2) @@ wrs emLens 5. 900 30.6.2008 e
qgguggg Ceuemr(Hid.

(26m)6 THSEHDE STUEH  (pegnl g Gw @&gmgggﬁ]mgj

e, 750.

M Co. Ltd. have the followmg Trial balances as on
30.6.2008.

R Rs.
Stock 30.6.2007 - 1,50,000 -
Sales b i ; 7,00,000
Purchases 4,90,000 |

13 5130/SB5/BP1



Productive wages
Discount

Salaries
Rent
- General Expenses and

Insurance

Profit and Loss a/c. (30.6.07)

Dividend paid, August 2007

Interim dividend paid

5,000 equity shares of Rs. 20
full paid

5,000 6%.preférence shares
of Rs. 20 fully paid

Creditors

Debtors

Plant and Machinery

Cash in hand

Reserves

14

-Rs. Rs.
1,00,000

14,000 10,000

15,000

9.900

34.100
30,060

10,000

8,000
1,00,000
1,00,000
35,000

. 75,000

58,000

32,400
31,000

 5130/SB5/BP1

e Rs.

Loan to Managing Director 6,500
Bad debts | 3,160

10,06,060 10,06,060

Stock on 30.6.2008 is Rs. 1,64,000.

You are required to prepare the profit and loss
account for the year ended 30.6.2008 and the
Balance sheet as on that date after considering
the following adjustments. ; '

(a) Depreciate plant and Machinery at 10% p.a.

(b) Reserve 5% discount on debtors

(¢) Allow 2l % discount on creditors in provide .

(d) Managing Directors commission at 5% profit
- before sharing his commission.

(e) One month rent‘ Rs. 900 was due on
30.6.2008.

(f) Six months insurance unexpired Rs. 750.

15 ‘ 5130/SB5/BP1



U
10. 31.3.2008 A Spseair_ @@uq.@mm GPLenLIE

Qs sb0ueal smassiLlLg):

. Qersgissar
BemoglLi
PS5 Yenemnuld <oimhm

i S sligL b

19,500 ep. 10 Quibdyd
W (PemLWTs FTE®G,
QsaissLiLL L

LIIG &6l

Qun@yuq&m .
QeQIgsLiul L :

Qrrasbd
Qaru s a;/@
24,200

upLe sLafbCsm
wenayflenio
géTméJﬁa;dT :
ued
Menewrwiomm
2 _GTeTeUTEET

’ (l_cﬂmmru_ub DD
Cerggssar) 55,310

Yenemmib <ymhm 99,790

2 _GITEIT6U T8 6T
- aumd) Guoe
- eueyuumnmy
(Gevawmuib 12,000
2ADDS1)
3,86,300

16 5130/SB5/BP1

1 95 OOO umuev &L ematlger

50,000
148,000

65,500

56,800

64,820

2,500
98,680

3,86,300

¢ -
Spsar_  Censgissamer sealiurert  eldueer
Cewigmr.  Gevawry  ypm Q&rrggﬂasm . 35,000,

Guipdyod . 51,000, sré@ @muy . 39,000, Lpue
sLennmaflsar @. 58,500, Qyrés ep. 2,500. SeneLiL
Cleweyser . 1,000. somouutarflar  sedwib

Cersgisa6r alnm efenaufed 2%% §5615LD, lﬁlmsmu_ﬂb
2ADD  sLaBCermEE GesgisdHudad 2 §563510.
senaLiLmarilen Qs samsms swnt Qelweyn.

A company went into liquidation on 31.3. 2008.
The Balance sheet shows the followmg part1cu1ars‘

on 31.3.2008.

~ Liabilities Rs. ~ Assets e
Subscribed : ‘Goodwill 50,000
Capital Freehold building 48,000
19,500 shares Plant - 65,500
ofRs.10each =~ Stock 56,800
fully paid 1,95,000 Sundry debtors 64,820
Suhdry creditors Cash : 2,500
Preferential 24,200 Profit and Loss a/c 98,680
partly secured ; :
(on freehold
properties) 55,310
Unsecured 99,790
Bank overdraft
(unsecured) 12.000
3,86,300 3,86,300

e 5130/SB5/BP1
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The liquidation realised the assets as follows :
Freehold property Rs. 35,000, Plant Rs. 51,000,
Stock Rs. 39,000; Sundry debtors Rs. 58,500.
Cash Rs. 2,500. The expenses of liquidation
amounted to Rs. 1000 and the liquidators

remuneration was agreed at 2% % on the amount

realised and 2% on the amount paid to unsecured
creditors. You are required to prepare the
liquidators final statements of account.

18 5130/SB5/BP1




5131/SB6

)

BUSINESS LEGISLATION

MAY 2011

"‘Time : Three hours

fsil

(For those who joinedin July 2003 and after)
Maximum : 100 marks
Answer any FIVE questibns. *
All questions carry equal marks.
é@ﬁu;’sg @G.wg)@ajrj)g)eﬂmrud)@@@j @ paEmar @cbl“fﬁ

Examine the various modes of discharge of
contract. '

“oguweller” eumrelassamrd sms. eig Qs iLrar
edlsaner allaréss.

Define “Consideration”. Explain the provisions

relating to it.

‘puumLeien” cimralassamd &ms. @L"Jumgmuﬁléﬂ‘

DlgUiLLsmer elleurd &s.

Define “Bailment”. Discuss the essentials of

bailment.

waaufler 2 Menwsdr, sLmwsdr wHYID Auryliysmear

- aflaT s, ‘ _
* Explain the rights, duties and liabilities of agents.

10.-

eumil@&Geunit  HmD efpueuflar o Aewaer wHHILD
ELEDIDSENET Fn 5. :

| Describe the rights and duties of b.uyer‘andrseller. '

Blaeufl e18@ earidl weop efldasamar <15,
Analyse the rules relating to carﬁage by land.
sWULTEE SLILO pdlllen Ldeuamssmar efaTéEs.

Explain the various kinds of charter party.

- Aneiluy euenrs :
. (@4) &Ués@@ﬁ;ml_%uhm

(=) aurerQauaf 9e.

Write notes on :

(a) Baggage check

(b) Airway bill.

Qasa| Sieden aumrelossamid &(Hs. Qensey Siellen
L Gaum eUPEE eUMSH®ET ilaTé .

Define “Arbitration”. Explain various arbitration
suits.

pi&rGeunt  arempre)  eranen? meTGeumflen LG
o flensemer alleré@s.

What does “Consumerism” mean? Explain the
various consumer rights. :

9 V 5131/SB6



5132/SB7 MAY 2011

PRACTICAL AUDITING

(For those who joined in July 2003 and after)
Time : Three hours , Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks.

1. safllsmaw rarflen GamTTdFukisman 6lleTsEs.
Discuss the qualities of an auditor.
2.  saflems Qewadl L — derssd sms. ef Guflu

wpégielwmanien safldms Qewd L gslan swumt
Cews. ’ ,

Define Audit programmé. Prepare an audit
programme for a large size hospital.

3. Qumés eNpuemeruie o e <% SLHUUT g
safismawrarier uaflsamar ellars@s.

Discuss the auditor’s duty regarding the internal
check on cash sales. '

4. “saflsmsan pedwusgieub srampmie)” — alaré@s.

Vouching is the essence of Audit”™-Elaborate.



R s QUURS _‘@gmgr@d{ g,mﬂé;masu.trrerr_rﬂsiﬂ

umieeuuiler sflurigsaussd, LHLTH CeausREEL -

2 Mw pafwuggicuseaner er(pgis.
State the importance of verification and valuation

of assets from the view point of an auditor of a

limited company.

EPEITDTLD - BLIITE (G156 (& meu saflsemaswmarien

Qummiiyser wreneu?

What are the liabilities of an auditors in regard to
third parties?

2L G5 e gmisms ANGDS TaDIER  erene?
DA FTSFIHEET F(TH&HHLOMS 65l 6TdH G,

What is cost audit report? Discuss its provisions
briefly.

safisamsunart sl gfaig CQsmfed Su pLDS
GTGIDITE) Gremes? @erLmbd Ul lquwiedled 2 arer rGseanid
GTL(h 875 GI5H®ET Fa1)s.

What is misconduct ,accoi‘ding to bcharte‘red

accountants act? Name atleast eight pfovisions in
the second schedule of the act. ”

2 ; 5132/SB7

10.

~

)
i&5gatsmaudlanen salCi@uimd QPELDd BEnL (eI
u(BHSSIUSDE aswimerLiLi(hid (LPENMSEMETLLD
CQumrdlsemerujib ellers@s. '

Explain the techniques and tools for internal

audit, when accounts are maintained by
computers. '

saflsmsiQudear LGy wopsmar  eAfleuns
cilens 5. ' ‘

| Explain the various types of audit in detail.

3 . 5132/SB7



- 5133/SC1/BP4 - MAY2011

PRACTICAL COSTING

(For those who joined in July 2003 and after)

Time : Three hours Maxﬁnum : 100 marks

- Answer any FIVE questions.
All questions carry equal marks.
1. oLés e Quiellan cuanrellaGSamTid F(MHE. S
BGTEET OHMILD GlGTaTengsaer 696TéEs.
Define “costing”. Explain its advantagés ~and
objectives. ‘
2. 516G SLOUUTLH eopulen Loms pamDnaamer
cllen&Gs.
Explain the various methods of inventory control.
3. @mm@gmmaseh GTGITMTE) GTGIEN? DSHEN LIS SN 6T
S VES. '

What are overheads? Analyse the different types
of overheads. :



4. Memeuqnid @ﬂeuméjes,aﬂ@ (NG é\u_@as cllanev
Ul iquenas swnilése]ib. ‘ k

SloUGS FTaSl(mUL : sardlwiib :
epeoiALTHET 16,000 =pugd Coararr 62,250
el Quirgper 10,500 Qung Goereri 57,000
. Quodsradmuy afpueer Gemart - 50,000
eI QU 12,000 gaflyre:

Wow) Guneer 7,000 QsnBiberane 6,500
apaliQunmer Qamarapsd 34,000 i@ieiesid 5,600
Ogaeysar : Gagmepid 4,400
Comg 6,250 smiSE

Gsmfpsrana 3,750 QsmPpsmene 3,200

éﬂ@lmw&m 5,500 <igeiwsn 2,400

e HLiena 4,500 2-HusH saed 10,000
166 g : " UGS 6T 1,000
o drQsmeT 1,250 efpueven | 3,00,000

Qeuafls Qe 1,750

Prepare the cost sheet for the following data :
Rs. Rs.
Inventories in the beginning : Salaries : |

Raw materials 16,000 Works manager 62,250

2 - 5133/SC1/BP4

Rs. Rs.
Finished goods 10,500 General manager 57,000
Inventories at the end : Sales ﬁlanager 50,000
12,000 Lighting : ‘

7,000 Factory © 6,500

Raw materials

Finished goods .
Purchased raw material = . 34,000 Office 5,600
Expenses : v Show room 4,400 '
Direct " 6,250 Insurance: '
Factory = - . 3,750 Factory 3,200
Office ; 5,500 Office . 2,400
Selling 4500 Productive wages 10,000
Carriage : ' Bad debts 1,000
Inwards 1,250 Sales 3,00,000
Outwards v 1,750 » '

5. 1.4.2010 wiemm ppeol@Qurmer srédmuy 200 @@
. 2.00 978 <iwE. (<) LIFO wpmbd (<) FIFO
wepuile s7éE CuGTLH sansdlamean swrilésea d.

2010 griiger 05 Qamerapsed 100 i@ @ . 2.20 Gré
10 Qamerupse 150 @@ @ . 2.40 Qrdl
20 Qsmarapse 180 @ies @ en. 2.50 G5

. 2010 guuge 02 Sfpuear 150 @@

07 edpuever = 100 sivE
12 Qpueer 100 @@
28 aflpuener 200 EICR
3 _ 5133/SC1/BP4



The stock of materials as on 1.4.2010 was 200
units at Rs. 2 each. Prepare stores ledger account
in (a) LIFO and (b) FIFO method.

2010 April 05 Purchases 100 units at Rs. 2.20 each

10 Purchases 150 units at Rs. 2.40 each

20 Purchases 180 units at Rs. 2.50 each
2010 April 02 Issues 150 units ‘

07 Issues 100 units
.12 Issues 100 units
© 28 Issues 200 units

geoo 2010 @ uefumert Si. emb 300
QuirpLsmer s aumpsdo o pusH Qaiismr. sjeui

ey 2 gdlreuns 48 wenfl samsdled @, 4.00 Grd wenfl

e pepuiled gmell Qupomt. em Qummar 2 HusH
Geww Hiamudssiuc L Cryn 10 B RigeTr whmib

26T &5 permulled CriLd 20% FE(HsOTES

UPRISLIULL gl Sararmiler Qorss sed wHmb Lwier

Gaeuurar Cpré sellaw Sps@TL  apemseie

sasS[Hs. ' s

(1) Hliewruiésiul L eury snad SOG (Papulled

(=) anmebCs wea - Gumrerev 50%
(uenflurerisl @), '

4 5133/SC1/BP4

Dd(.,-ng the first week of July 2010 the workman
Mr. Sam manufactured 300 articles. He received

wages for a guaranteed 48 hour week at the rate

of Rs. 4 per hour. The estimated time to produce

one article is 10 minutes ‘and under incentive
scheme the time allowed is increased by 20%
calculate his gross wages and effective hourly rate

according to :

(a) = piece work with a guaranteed weakly Wagev

and

(b) Halsey premium bonus 50% to workman.

smd . @ 3 2pusH se@wpser wHmb 4 Uenflg
glePma&EaET 2 deren. (pgeenio Lidlie| papuled gemmé

Oesewagar lﬂgbrm@mrrgj - :
2 Huss gien : . - uels gienp : |
Geg 15000 sré@aeop 2000
Gs 13,000  Grrs gieom 1,500
aTed 12000 \fenssd giop 800
, .gmma;g Flenm 500
40,000 e 4,800
5  5133/SC1/BP4



2 pUSH - Gonseilear (R efeugil_1 &G

SrUUL_(haTere.
Gy Cs GT@
Qupdrhsafer @dany s64) 300. 300 200
LigwflwimenT 6T cRrenilGens : 20 15 15

s7&66 Lweau@ssuul L wdiy  Rs. 5,000 Rs. 3,000 Rs.2,000
uenfls gienpufen Cewajsamer 2 HUSS BODES udlirey
Qews. 2 flu pansmersd CambosH&sea,b. »
Sam Ltd. has 3 production departments and 4

service departments. The expenses of these
departments as per primary distribution summary

are : .
Rs. - ) 3 " Rs.
Production’ departments : ' Service Departments : ,

J 15,000 Stores 2,000

K ) 13,000 Time keeping . 1,500

s 12,000 Power ‘ 800

Canteen . . - 500

40,000 4,800

The following additional information is available
in respect of production department.

J K. L
Horse power of machines = 300 300 200
No. of workers 20 15 15

Value of stores used Rs; 5,000 Rs. 3,000 Rs.2,000

Apportion the cost of the service departments to
the production departments on an appropriate
basis. - ’

6 5133/SC1/BP4

8 &L amapie @ops Quisdr Cpr dsisswss

saGSE (H.
. ' {1
@w‘@ﬁqg@meﬁ]mm 8,000 &mug@ @L @mﬁ)unﬁ)mmmnmr’r 200 .Q,mn,

Hlmieyd QFevey 2,000 sbuemd
10 QU(BLLD Qe @@ Quibdr srild@ wpeanond 60 Gl.au.
@@1;& Wiy 2‘,000\ sfluméE Qewey 100 Q.au.

2 HusH senL_uflan Wetmesd) 1978 weanflé @ 2 weli
e ans (paadlwer 100 9.wor 5.5 (100 wefll s @)

Qurggaflu e 20 Q.o erdliumiliyy weefl Criybd - 2,000 9.6u

ps @Qubdlrd 2pusd @L GQurss uribe 1/4
ENAIY 2SS TG eTarg). 2 HLSS) @u
Cupuriemeuwreri gearg Cwngs Crrsdad 1/6 LG
Qs JupHrsdne GenallGdpri. Gung eafu,lLd

@)L @ngtiueamLule udliey QewwtiuL Geuamm (.

Calculate the machine hour rate from the

following :
o Rs. : L Rs.
Cost of machine 8,000 Shop supervisor salary 200 p.m
CQSt of ‘ . Insurance premium for
installation ) 2,000 a machine : " 60p.a |
‘Scrap value after Estimated repair : 100 p.a
10 years ; 2,000 Power 2 units per hour

Rent and rates for shop 100 p.m @ Rs. 5 per 100 units.

General lighting 20 p.m Estimated working hours 2,000 p.a

7 5133/SC1/BP4



The machine occupies 1/4th of the total & _a of the
shop. The supervisor is expected to devote 1/6th of
his time for supervising the machine. General
lighting are to be apportioned on the basis of floor

area.

2 b bEHHS S auPlapampsmar sL&s CaudiigLeTers.
gareul 2010 @& 600 GQwrss UM gdsET 2 HuSH
| Qewwiuliear.  Geteumd  eleugmsaidd  @(HHS)
auLfl(penm SeamrsElener &uimil&ee,yb.

euflapeny eréev  euiflpenm @U'J‘ @J@@pmm @e

. w ©
apeiGUTen 4000 . 2000 0 1500
o) (Ussflumer) 3,000 2,500 2,300
G Casngesr g0 M6 B0
- unl st Qeway o 2,030 : -
S L e 325

wepps Cewaser gp. 1,600. e cuflperpuie o erer
o LOurmlsear o5 240&@ epsiulLer @&l
aflpopded  eder LW LBg,UQLJ&@L’.&;dT
€. 125506 efpsiiu_Lar. ‘

8 5133/SC1/BP4

(7
A liquid medicine passes through 3 processes.
‘During the month of Jan. 2010, 600 gross bottles
were produced. From the following details prepare
process accounts.

Process X Process Y Process Z

: ‘Rs. saiRenc e Re
Materials 4,000 2,000 1,500
‘Labour .~ " 3000° . 925500 - 2,300
Direct expenses 600 200 500
Cost of bottles - 2,030 e
Cost of corks L e 325

Indirect expenses were Rs. 1,600. In process Y the

by products were sold for Rs. 240. In process Z, the

residue was sold for Rs. 125.50. |

10. owm Hmwsder aSwmumy wHmib @Gum_l BLL Sa&E

etreumLommy :
. ! ' €.
QameTps 25,200 efpuear (50,000 se@ser
Coiig. gn.6d ; 10,500 @ ep. 1.50 Qs 75,000
2 pusS Gsway 12,100 Qo ersdmiy 4,500 ¢
Sigaws dswa 5,400 Hlesihumar Qe 2,250
Apuenen @5@)@4. 7,000 Qupm seTEHLG s 250
Cswioreand 1,500
Hlay @eoruid . 20,300
82,000 L sogen |

q 5133/SC1/BP4



P Y p f / -
Sl sselena S S, Blar @emrLid g@ 19.750 The net profit as per cost accounts was only
LLEC. A LoD oL ss e SawTEGseer | Rs. 19,750 reconcile the financial and cost profit
Wetteu(mLd efleuiisefd Qg slsl (s, : using the following information.
| (a) In cost accounts closing stock is valued at

(<=1) 9L ssalema sasSLOLY. s75@s, Qmd @i

5. 4,250 Rs. 4,250

(b) The works expenses is cost accounts were

() sissaioa S Lo 2-DUsl Gz Gy taken as 100% of direct wages.

gaelluflerr 100% Gr@ﬂé;@grrmmuux'_l_@.

‘ ) Wy d _ (c) Selling and office expenses were charged at

(&) epusar wpmi> DYl Gewaser wapGu 1 10% of sales and Re. 0.10 per unit
cfpueander 10% wpmis @ 0.10 Grdl siag respectively.

gl e (d)  Depreciation in cost account was Rs. 800.

() SiLéselaa samé ey Cswimanty em. 800. ‘ ' I

A company’s trading and profit and loss a/c was as

below. : |
Rs. : : Rs.
i To Purchase 25,200 By Sales(50,000 units
To Difect wages 10,500 @Rs. 1.50 p-v) 75,000
To Work experises 12,100 By Closing stock ’ 4,500
’ To Office expenses . 5,400 By Profit onsale ofland =~ 2,250
To Selling expenses 7 000 By Discount received 250
To Depreciation 1,500 : '
, -To Net profit 20,300 :
82,000 : 82,000

10 5133/SCI/BP4 11  5133/SC1/BP4
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5134/SC2/BP5 MAY 2011

MANAGEMENT ACCOUNTING

(For those who joined in July 2003 and after)

Time : Three hours ' “Maximum : 100 marks
Answer any FIVE questions.
All qu’eétions carry equal marks.

1. Guoermrew  searéd e e @asrrdfemaaas@h HMID
SUHUISES DHDES.

 Analyse the objectives and -importance of ‘
management accounting. ' :

2. fifloe dsmsulan LoOumE YLIEUDEFLSEMET
afleunl.
Describe the various types of analysis of financial
statements.

3 “g,ryé;a;méséﬂ@b” TaTUSE  uaTElOESEMILD  H(HS.

Leeues wrmur(safien euamssmar ellaTéEs.

Define “standard costing”. Explain various types
of variances.



(=) QLbrrgsg amu eN&lgn | (

(<=

) Gués anf c9dsio

(@) Quss aufl @amu ellélgd u)g')QJLb ‘
. ()  Hlay Qaru 8ls0 a;mé;aﬂ@s;. :

Blieurs Geaeysar ' 1,300

lpuener Qgawe|ser ' 700

CaWiomenid o & ik 200 -
Calculate :

(a)
(b)
(c)

(d) Net profit ratio. .
Rs.
SAales 21,000
Sales returnb 1;000
Cost of sales 16,400

5.
&S Lienen bl 21,000
Spumer dpiud - 1,000
aflpLiener 2iL_&&6ilena 16,400

ey Qeawe (Qu&sD sTITHSg)) 100

(pSSH&T B GuL g QUHEIMLI 200

Gross profit ratio
Operating ratio

Operating profit ratio and

2 . 5134/SC2/BP5
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Interest expenses (non operating)
Income from investment |
Administrative expenses

Selling expenses |

Depreciation
s_enmeflsar ellens 3 LD T i & 6T
Qs @eTud ¢m. 4,00,000
876 ellens 1.5 gLanau
QupssEs LIHDE.R . 25,000

Qurss Geomu @Eﬂeﬁg,[b 25%

Rs.
100

200
1,300

700

200 .

Qnd AUy Buwss srsdpleou el 20% Siglsw.

eSS ()G

(=) sLemellgaT

(<) Dmid ersdBuy.
Debtor velocity 3 months -
Gross profit Rs. 4,00,000

Stock velocity 1.5 times
3
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Bills receivable Rs. 25,000 (
Gross profit ratio 25%

Closing stock is 20% more than the operating
stock.

Calculate :
(a) Debtors
(b) Closing stock.

6. dpeig¥ear Qoan. Qouuews Ebluy
Gemeu(mommy : : :
Qupiiysser 2009 2010 Qemdgiéser 2009 2010
'@. €. €. €.
wenareudL b Qurésid 11,000 15,000
Qb sLe —~ 20,000 sLemeflset 40,000 35,000
SLILL ) 25,000 30,000
Gaugmqw wrd 12,000 8,000 @uidyd 20,000 14,000
sLafCsmt 25,000 52,000 fleod ' ,
auriid) &L 43,000 60,000 sl 50,000 80,000
epasaTD 66,000 . 34,000
1,46,000 1,74,000 1,46,000 1,74,000
EXCETY eSleurmIseT : »

(1) 2010&smen ey UL b ep. 13,000

4 5134/SC2/BP5 0

(%5 @Qbs gargd @ 5000 o sseone 2L w
(Cowwrend sl @ ep.. 20,000) @f Qubdyod
. 2,5008@ elpsiulLg. Quibdy @g,uhmﬁm

031122009 @& 6,000 woHmbd

31.12.2010@ ev. 7,000. ’ :

STy

Gupsar eleurhisaid Qmbgl Cymés pLom L
SiMsmaamu sLTi&Esea .

‘The comparative balance sheet of Mr. Vijay for the

last two years were as follows :

Liabilities =~ 2009 2010 Assets 2009 .2010
; Rs. Rs. Rs. Rs.
Loan frofn life - 20,000 Cash 11,000 15,000
Bills payable 12,000 » 8,000 Debtors 40,000 35,000
Creditors 25,000 52,000 Stock 25,000 30,000
Loan from Machinery 20,000 ° 14,000
bank 43,000 60,000 Land and
: Capital 66,000 34,000 building 50,006 ‘ 80,000
1,46,000 1,74,000 1,46,000 1,74,000

Additional information :

(a) Net loss for the year 2010 amounted to
Rs. 13,000

5 5134/SC2/BP5



(b) During the year a machine costirg Rs. 5,00

- (accumulated) depreciation Rs. 2,000) was
sold for Rs. 2,500. The
depreciation against machinery as on
31.12.2009 was Rs. 6,000 and on 31.12.2010
Rs. 7,000. |

provision for

'From the above information, prepare a cash

flow statement.

1. Spssramid @uuybloe EALGd @Qmbs Qrrés

Bl L iflsamsmu surféseb.

Qurmitisaen

CPOSETLD

8/p semés

10% sLaf_ (i
ugdlyo

LG

SriuL

Geuanrig s Qgavey

31.3.09
1.
1,00,000

80,000

50,000

30,000

10,000

31.3.10 Qenggisar
i)

1,50,000 flena Qens g

1,20,000 pemodiiny

Fr&E iy
G000 aisnailas:
40,000 Qupsp@Eiu
wr/&

15,000 aurad)

2,70,000

3,85,000

31.3.09 31.3.10
- -
1,00,000 1,50,000
50,000 40,000
30,000 70,000

50,000 90,000

30,000 20,000

10,000 15,000

2,70,000 3,85,000

5134/SC2/BP5

Frohn the following balance sheets prepare cash
flow statement :
Liabilities 31.3.09 31.3.10 Assets 31.3.09 31.3.10

Rs. Rs. Rs. Rs.

Share capital =~ 1,00,000 1,50,000 Fixed assets 1,00,000 1,50,000

'\ “PandL Goodwill - 50,000 40,000

‘ accounts ) 80,000 1,20,000 Stock 30,000 70,000

10% debentures 50,000 60,000 Debtors 50,000 90,000
Creditors ~ 30,000 40,000 Bills

Outstanding receivable 30,000 20,000

expenses 10,000 15,000 Bank 10,000 15,000

2,70,000 3,85,000 » 2,70,000 3,85,000

8.  Spsmamid  eleugrisela | QmBa - epeliQuTmar
wrourhsmes sarsd (Hs.

Hleney oL &S . S TN SILGSLD

é{mm'a@@ Gwrgsd  oierey <SG s

; alleney aflleney
ACar m ACor e 5.
l\ Quimar‘s’ 10 2 20 5 3 15
|7 Qutwerta 20 73 60 10 6 60
Qurper'® 20 6 120 15 5 75
Quongsi 50 4 20 30 5 150
7 5134/SC2/BP5



Standard Actual
Quantity Unit Total Quantity Unit Total
price price
bt kg Rs. Rs. kg Rs. Rs .
Material A 10 2 20 5 3 15
Material B 20 3 60 10 6 60
Material C 20 6 120 15 5 75
Total B0 4 200 30 L

<

(=) ep. 3,00,000 eflpuene GTGUﬂGDT (@GDITLHD/‘[BL_L_LD

From the following information, compute Aaterial
variances :

GI)ITL.Il‘_L_Lij)‘Q) Hlenev eflpuiener @ 1,60,000;'2010&;@'
eflpuener ep. 2,00,000; 20108 @emru er. 12,000.

a;ma;és]@as »

(<) 2011 Ged aﬁ]mumaﬂ eflene 10% @ewpuwbd eren
eadliurissliu@dng. 2010 werelpsrar HGCs
Qeruid Qum obs yﬂgmm GTEUGLGTEY aﬁﬂg)umem
- Qeww Ceuar@?

: Break even sales Rs. 1,60,000. Sales for the year

2010 Rs. 2,00,000. Profit for the year 2010
Rs. 12,000. '

Calculate : _
(a) Profit or loss on a sale value of Rs. 3,00,000.
(b)  During 2011 it is expected that selling price

will be reduced by 10% what should be the .
sales if the company desires to earn the same

amount of profit as in 2010.

3 5134/SC2/BP5
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159 Gur uenflwrhmith ‘@r'r ‘&rrbugﬁ Pyeuansde
Epssa eumn  Hoeser Bimeu uu;'_GGiTGrrGN (Cwimg.
Fa.a0l5(3) : :

Hena saa) i - e, 1.00 Ayd) e, Gyl oarfusi,
Bleney umﬂ Gmiyid = 35 weanflgar Qg euryid
Hlave eleamumpped = 250 i@ W58 weflsE

2010 webui né aumgdled Gamiy 9Mefled o erar g
Qupdlrd LwsTdug. sseamd <iblfeld o drer 50
Qmﬂu.nrrmr’ra;@é;@m 1 wenfl Cuyd eiewr srab HYHsH
FOULL Gl 2ibwrsssler Bs 2 Husd 9000 siwEsar. 6
vanflwmart e, 1.20 Grdwendl eremy elfssdHa &a@ﬂ
Guppent; Bsaperar A Heva efldssse Qubmen.
2 mpliydlper,  smallelsid |

WDTNISLEMETE GaTéS (5s.

wHmD e  &Te

In a manufacturing concern employing 150

‘workers standards have been set for direct wages

as follows :

Standard wage rate Re; 1.00 per hour per ’~

worker
Standard working hours = 35 hours a week
Standard performaﬁce = 250 units per hour
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During the last week of December(ZOIO a
machine broke down in = the assembling
department which caused all the 50 employees of
that department idle for 1 hour. The actual
production during the remaining month was 9,000
units, 6 employees were paid at the rate of
Rs. 1.20 per hour and the remaining were paid at
‘the standard rate. Calculate the efﬁc1ency, rate
and idle time variances.
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5135/SC3/BP6

MAY 2011

HUMAN RESOURCE DEVELOPMENT

Time : Three hours

(For those who joined in July 2003 and after)
 Maximum : 100 marks

Answer any FIVE questions.
All questions carry equal marks.

mqﬂg;eueﬁ Geramranioulen uanflsener eflaréss.

Explain the functions of Human Resource

 Management.

. wallg 554 gﬂl'_l_LrS]x_@JéS@L'_le_'_l_ Uy samer eleufgs.

Describe  the steps involved in manpower

planning.

Corgsemas L@ smyaflsaar afleundas.

: Discuss the factors affecting recruitment.

R Enhs uuﬁ]g)eﬂ (g)a»[ouﬁ]aﬂ aﬂmuﬁ]u_leuua;mm
eleré s .

Explain  the

4 features of a good training
pProgramme. : '

e

Y 9-GL MBI S em aT aﬂm&;g&

QL orhpsHer cumassamani GOLAGs.

State the types of Transfers.

umﬂunmr’ras@ésasnem Lwengaer  Liml F(HESLONG
TpGIE. .

Write briefly about the employee’s benefits.
@éu.fcb;ﬁmstr AU L urdlé@n  sryeedr umml
aleufés.

Describe 'the factors affecting  performance |
appraisal. : ] , ;
uenflwreriget e
SIEEILHSsI01g?

How to increase the morale of the employees}?

| R (LPMBIGH TN 6L Greua Ty

Qndwurele &LL@u@qu,.aﬁm Q@Jg)@esasrrem ETTETBIGET

wireney ?

What are the causes of success of collectlve
bargammg in India?

Georeirenouden Qg,n@wrrmrra;crﬂm - uRGapy

Explam the different forms of worker participation

‘in management.
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5136/SC4/BP7 e

ORGANISATIONAL BEHAVIOUR

(For those who joined in July 2003 and after)
Time : Three hours : Maximum : 100 marks
Answer any FIVE questions.

All questiens carry equal marks.

1. sewly pLmsau @i, ST UTSESMET
efeu.
Define “organisational behaviour”. Explain its
elements. ‘

2. Guwssafler uamflser wreaneu? Simeusamaer eflarsses.

What are the functions of groups? Explain them.

3. SEMID ey, aflemrsdear  Camur@saer

efleu.
Define authority. Describe the theories of
- authority. ’
4. SL(AULIM Q6 BETELOSEMETLD, SENLOSEETILLD Snmis.

State the merits and demerits of control.

10.

Umps QUMSLLLLQITSE®ETLD, . - S&BLPS
auamsILL L aursanemud Coumiui(hsgs. :

Distinguish between extroverts and intraverts.

. Gamreller seneniosener elleré @s.

Explain the nature of fatigue.

@@ Sl Gelilar umilsmar efleufés.

Discuss the functions of a small group.
ﬁr;reurrasg,ﬁsb vewtlwmerTigar ur&@asrju@d) o_aTar
Benen g aT @GN (Hs.

Point out the merits of workers participation in
management. v

AsmPle sarmmsmens Sis@ibd apemnsaman adaufl.

Describe the methods of settling industrial

_disputes.

&m&g Caumuin(® Coearameno Gnég efeuf.

Explain the conflict management.
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